Wednesday 17.06.2020
Fluent in Five
1. 699 ÷ 3 =
2. 780 + ___ = 2,000
3. 100 X 0.79 =
4.  -  =
5. Write 257 in Roman Numerals
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
Maths Task – Counting Squares
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George has dropped a can of paint on his kitchen
floor. Can you work out how many squares there
are on the kitchen floor altogether? Show your
calculations
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Jay has accidentally ripped his page of graph paper.

—

IS

What is the smallest possible area of the whole
page of graph paper?

al

b) If the graph paper was 8 squares long, what is
the largest possible area?
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Tamsin has drawn three rectilinear shapes
with a total area of 10 squares.

@) Here is one example she has drawn.
Finish off her calculations.

Shape A Shape C
T Shape B T

Area of shape A = ____ squares

Area of shape B = ____ squares

Area of shape C = ____ squares

Total area = + + = 10 squares
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There are ___ squares in each row.
There are ___ rows altogether.

___rows of ___ squares equals ___ squares.
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2) Copy and complete the table for each example.

a) b) <)
There are __ squares in each row.
There are ___ rows altogether.
rows of ___ squares equals __ squares.
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George has dropped a can of paint on his kitchen
floor. Can you work out how many squares there
are on the kitchen floor altogether? Show your
calculations




image2.png
Jay has accidentally ripped his page of graph paper.

—

IS

What is the smallest possible area of the whole
page of graph paper?

al

b) If the graph paper was 8 squares long, what is
the largest possible area?
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Tamsin has drawn three rectilinear shapes
with a total area of 10 squares.

@) Here is one example she has drawn.
Finish off her calculations.

Shape A Shape C
T Shape B T

Area of shape A = ____ squares

Area of shape B = ____ squares

Area of shape C = ____ squares

Total area = + + = 10 squares
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There are ___ squares in each row.
There are ___ rows altogether.

___rows of ___ squares equals ___ squares.
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2) Copy and complete the table for each example.

a) b) <)
There are __ squares in each row.
There are ___ rows altogether.
rows of ___ squares equals __ squares.





